Paper Il - Political Science

36. Whois the author of the book “Libralism”?
A. Habhouse
B. Professor Laski
C. Benthom
D. Sartory

37. Into How many parts is Aristotle’s book
‘politics’ devided?
A. Intwo parts
B. Infour parts
C. Infive parts
D. In Eight parts
38. Rousso was a supporter:-
A. Of legal sovereignty
B. Of People’s sovereignty
C. Of political sovereignty
D. None of theses
39. He is a thinber who seperates politics
from morality:-
A. Maehiavelli
B. Plato
C. Aristotle
D. Higal
40. This is the name of the major book written
by plato :-
A. Politics
B. Prince
C. Republic
D. Leviathan
41. Jawahar Lal Nehru acknowledge the
success of democracey :-
A. Quata System
B. Adult Franchise
C. List System
D. None of these

42. Who comes first among the seven limbs of
kautilya’s Kingdom?
A. Ministevs
B. TheKing
C. Funds
D. Fort

43. “Gandhi May die but Gandhism will always
alive.” who said?

A. Ambedkar

B. Nehru

C. Mahatma Gandbhi
D. Sardar Patel

36. 3GRAIE YXI® & AP DI 87
A. BISBI3Y
B. Ut Shl
C. SH
D. IR
37. "3RI &I Qe Ulferiead fpad umn o
fauford &

D. 313 W &
38. &4 U UT:-
A. DA YT B

39. JSHIfA® BT AfdwHdT  GUFHIO HRA
e S IR g2
A. gt
B. Wicl

41. SATER A1 g% o Apdd dt Jhdd]
& fore WiaR foar:-
A. DT IR
B. TU® HAMIGR
C. i yurel!
D. S0 I PIs T8t
42. P & IT & I H DI JIuUH
31T 87
A. 3HTH
B. WOTH A1 T
C. Y
D. gl
43, T} TR FobdT § Afp Tiefarg gH=m



44. Who among the following talked about
party less democracy :-
A. Patel
B. Nehru
C. Gnadhiji
D. Jai Prakash Narayan
45. Who was the chairman of the drafting
committee of the constituent assembly?
A. Dr. Rajendra prasad
B. Dr.B.R. Ambedkar
C. Jawahar Lal Nehru
D. Sardar Patel
46. India is a secular state, it means:-
A. People of India are atheists
B. Many religions of India
C. Thereis no. state religion in India
D. None of these

47. When did the first president of India
assume his office:-

A. 15 August 1947
B. 26 January 1949
C. 26January 1950
D. 15 August 1952

48. “The Theory of Class struggle” is related:-
A. Liberalism
B. Capitalism
C. Individualism
D. Marxism

49. To whom is the chief minister answerable?
A. Prime minister
B. Governor
C. Parliament
D. State Assembly

50. To whom is the union council of ministers
accountable for its actions?
A. Of the parliament
B. Ofthe president
C. Of the Rajya Sabha
D. Of the vice-president

51. Foreign policy of India:-
A. Isagainst Non-Alignment
B. Is asupporter of Non-Alignment
C. Isasupporter of Communism
D. Not a supporter of capitalism

44. T ¥ J frem ga-fad usaa &t
anaaﬁ%:-
A. O
B. §®
C. e St
D. S YT AR
45. IfaYUT™ GUT B IR (Draft) FATT &1
3[eTEf DI UT?
A. S0 Io<% UG
B. S0 H03R0 FASH
C. SaeR AT A5
D. YRGR Ucd
46;@@5%@&@%%@

A. YRd & T TS B
B. HRd H 3M® yH gl
C. YRA AT HI HIs o T8I g
D. 39 Y PIS eI
47. ¥Rd ¥ uyH 9 30+ Ug @l
PR & UGl T2
A. 15 3T 1947
B. 26 SHARI 1949
C. 26 SHA% 1950
D. 15 3T 1952

48. "1 T o1 g TR -
A. JERAG
B. Juildig
C. dAfaqarg
D. HIRIdIE
49. goTHH fHgd ufd SRerd g e?
A. Ty
B. TdR
C. ¥9c
D. I fAum=aHT

50. o TAURYE U4 ®Ef & foru
fpad ufd STRar 82
A. d9T &
B. ¥Ufd &
C. ITIHT &
D. SWIFUfd &

51. 4R P! [AGTHITa:-
A. TefRuer faRreh B
B. TefRUs™ &t qude 7l
C. grare & gude B
D. Uoiiarg & g9d® &l §1




52.

53.

54.

55.

56.

57.

58.

59.

He was the proponent of the panchsheel
principal:-

A. Indira Gandhi

B. Lal Bahadur Shastri

C. Jawahar Lal Nehru

D. Mahatma Gandhi

From which state of India most number of
members are elected to loksabha:-

A. Uttar Pradesh

B. Bihar

C. Madhya Pradesh

D. Maharashtra

The state which does not have a legislative
council?

A. Uttar Pradesh
B. Karnatak
C. Maharashtra
D. Rajasthan

What is the purpose of a pressure groups?
A. To gain power

B. Influencing  public policy and
Governance from outside the
government.

C. Delivering a speech

D. Contesting election

Who was the first chief Justice of the
supreme court of India?

A. H.). Kaniya

B. B.K. Mukharjee

C. S.R.Das

D. A.K. Sarkar

There is an impartial commission to solve
the problems of women.

A. Law commission

B. National commission for women

C. Human Rights commission

D. Social Welfare commission

What is cultural nationalism?

A. National Unity

B. National Sentiment
C. Cultural Identity of the nation
D. Ethic ldentity of the nation

India conducted its first Nuclear test:-
1968
1970
1974
1998
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52. Uoiid Rigr & ufduras 2:-

A. e et
B. TTcl SIgTgY Rel
C. WTeR el e
D. HeTeHT Tiielt

53. YRd & b I ¥ AleaHT & foru

TaT® Hew g 91d 82
A. 3070

B. fagR

C. HH U

D. HERTY

54, 98 o9 forgd fau uRwe 48 g:-

A. STWUCH
B. HHicdh

C. TERIY
D. SR

55. 3919 THgE! B I T gl 82

A. I YT ST

B. U & TR IEHR WIdul-ieb Aifd 3R
M D gHIAT BT

C. YU AT
D. @ qS

56. YRd & Wdrd TR & UYH G-

rarefiRr B UT?
A. TIOSI0 HI-T
B. 00 T@si
C. THO3RO TN
D. T0%H0 IRHR

57. Afgensil &t gA@e & fFRIH0 &

fore o ey smaT 32
A. fafd smam

B. 1Y HigaT 3MmgmT
C. HHATYHR ST
D. JHIS HedT0T TR

58. TR I YA FT 82

A. TP Thdl

B. ST HIGT

C. Y Bl Fikpldd UgaH
D. Y & STy UgdH

59, YRd = 3T YT TRATY] U&7 fHa:-

A. 1968
B. 1970
C. 1974
D. 1998



60. Where is the secretariat of ‘ASEAN’

Located?
A. Jakarta
B. Kathmandu
C. Hanoi
D. Rangoon
61. When did public administration emerge?
A. 1884
B. 1885
C. 1886
D. 1887

62. Where is the secretariat of SAARC (South
Asian Association for Regional
Cooperation) at present?

A. Delhi

B. Kathmandu
C. Dhaka

D. Islamabad

63. Which of the following is not an effect of

globalization?

A. Welfare state

B. Privatization

C. End of quota, permit license raj
D. Working on contract

64. It is considered to be the beginning of the
process of democratization in India?

A. 26 January 1950
B. 15 March 1950

C. 2 October 1959
D. None of these

65. Which of the following is a directive
principle of state policy?
A. Freedom of religion
B. Promotion of cottage
C. Freedom of the press
D. Equality before the law

66. In the constitution of which country the
amendment process is not mentioned?

A. India
B. Canada
C. England
D. China

60. 3R (ASEAN) &1 HfdTead &gl IR
fRag?

D. ¥[A
61. A% URINIA &1 UigHia &a gam
A. 1884
B. 1885
C. 1886
D. 1887

62. IAAT | TTeb b1 T Bl U 82
A. %ﬁﬂ'

B. PO
C. T

D. S&HIdIG

gs.ﬁyﬁﬁﬁqw%%ﬂwqumqﬁ
?
A. AHHAUBRI T
B. e
C. ®icl WRHe AZIY &1 IS &I 3fd
D. JifdeI R B ST

64. YRd H Alba-ddh 0l B Uichdl BT
URTY HTT ST 8:-
A. 26 SHaRT 1950
B. 15 AR 1950

C. 2 3fagsR 1959
D. T9H A 18 et
65. 9 & ¥ ®F-a1 Hif e da 82
A. ¥ P @A
B. HIR SEN & g
C. U9 &I Wd=al
D. S & JHE FHM

66. {5 321 & Ty o I=ne ufssar &1
ITT e 87
A. HRd
B. ®ISl
C. 3US
D. dH



67. When was ‘NITI Aayog’ established?
A. 2014
B. 2015
C. 2016
D. 2017

68. In the report of Balwant Rai Mehta
committee, it has been suggested have
Panchayati Raj’ institutions at how many
levels?

A. One tier

B. Two tier

C. Three tier

D. None of the above

69. Who is the main objective of political
parties?
A. Forming a Government
B. Making the movement
C. Conduct cultural programs
D. To Criticize

70. When was the national commission for
women established?

A. 1974
B. 1977
C. 1992
D. 2005

67. Tl ST &1 R Hd G357
A. 2014
B. 2015
C. 2016
D. 2017

68. §Add T Hedl IAfd & Ufdaed #
TR SR8 B fohde TR W
ERSEAREICACUIRI I
A. T TR
B. fg-wr’im
c. Bwdm
D. Sudad H A BIS TEl

69. ISHIfde adl 1 U 32T &1 i 82
A. I U hAT
B. 3G H=AT
C. IRpfad HRIHH HAT
D. 3{TaEHT &l

70. ST ARG SHTINT BT RITIT B g2
A. 1974
B. 1977
C. 1992
D. 2005



